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Terme vereinfachen

1. Vereinfache die Terme.

(a) =+ (f) 12-3b-2 (k) (=13)-(=7z)
(b) c+c+d+d+e+d+e  (g) 5-4a (1) (=5r)-(—=3s)-(—T7t)
(c)a+b+b+b+a (h) &-2r (m) 8z :4
(d) 9-7x (i) 0,25y - 1,5 (n) 42z : (—7)
(e) 2a-5b-7 (j) 5-(—8xz) (o) =63y : (—9)
2. Vereinfache die Terme.
(a) z-x (d) 622 -82° (g) —3x%-(—4)a®
(b) r-r-s-t-t-s-r-t  (e) 7b-(—4c)-2® (h) 2ab - 9ab
(c) a*-a? (f) 222-32° (i) 3z - 2zy* - 22y
3. Vereinfache die Terme.
(a) 3a+4a (e) 4z + Tx + 5y + 9y (i) 92 — 17z
(b) 12a — ba (f) 42y + 172 — 16y — 7z (j) 7a® + 5a® — 3a®
(c) 4z + Tz + bz (8) 2z + Sx (k) 322 +9z%+ 12y + 5y?
(d) 5¢+ 8¢ —9c+ 4c (h) 2r+2r+Is+3s (1) 2223 + 3z - 2t — 22°
4. Multipliziere aus.
(a) a(b+c) (g) —4-(3—2) (m) 7(z+y+2)
(b) 7(a+b) (h) 2. (r+s) (n) (r—s—4)-9
(c) (a+b)-5 (i) 5(4z + 3) (0) 3a(xz + 8y + 62)
(d) 8(r—4) (j) —6(8¢c —2) (p) 72*(17z — 3y + 52)
(e) (z—6)-9 (k) 2a(3z + 4y) (q) (3a*—Tb*—4c?)-2abe
(f) =3-(z+y) (1) (Ty+=z2)-6x (r) —Trs(11r? — 12rs)
Lizenz: ce-by-4.0 Vorgerechnet auf https://www.koonys.de/2832
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